© 3-x2>-5+x—x>
® 0.1x-0.7y > 0.2(x —y)
@® x-4<5-3(x+1)

1 1 1
@3 P

@ 174 @ 27 @ 37 @ 47

® 570




=

oo
i

T HeE

Apgotel ekl o] 7] %

rlo
S,
rlo

O x & FFolth. - x>0

@ x=4H A Uk —x>4
@ xe1X2dIax g —x<1
@ x=7HE AT - x<7

® xE=-6Httanoolsloltt. - -6<x<0



e % v = -2 4 o) Fo| Hi BEAL LE 12 5L
T1.2x>5

L.x+2<4

E.f<x+1

2, 2(x-1)<5

@® " @ v ®@ 1L, @®r,c O =




4. the FolA AARFA0] obd 72

D 2x+1>10 @ x<3x-4
®3-x>2-x @ 2x2 - x2<x?—x

® x*-2<x?-x-4



240 $]e] vhepd

AQ7¥)

1
@ §x>3

@ -3+x<2

®© 2x+6>2

® -4x+1>9

@ -2x> -4



@1 @ 2 ® 3

@ 0



ne

AR ax +2 <14 J 7t x> -3 & W, @ 9] S Fotoi=h

5 S
=%



=

oo

Sop Abolo] PAE HEA O R e A F $2

Y

29

@ x 2 58] 2 & Het = x oA 4 S wl = B 32
= bx+2>x—-4

@ gt Rl a F Ab 7 ARt g el b A1 H 8 ZHE AtTY
71 790] 10000 ¥ 2] Ut = 7a+ 8b > 10000

@ 100 A=) AP x 7H9E 200 9] A 2 719 7HA2 1000 ¢
o]Afolth. = 100x + 400 < 1000

@ FA7L 3kg 1 U AFAoll g Foll 6kg 1 4 x B HOH
AA FAZF40kg= A F=Th = 3+6x>40

® 3t 7ol 300 €1 B x 7Het ?F Hell 600 ¥ A 47N E S
o, 1 592 3000 Y E T 22| ¢Frk = 300x + 2400 > 3000



9. -3+2>-3+2p L ul, b [] o 550 W] thulA] Ul
THE Shihe?

@ a-4[ | b-4 @ 3a-1[_|3b-1
a b da-1 ab-1

®I3+2E11_;+2 ® — [ ] —
—a _

= U=



10.

ok [ <kl Solrke R5 o) wrao] i) Ust th2 sht
=9

1 1
@ a>b Y, §a+5|:]§b+5

1 1
@ a<b°£”ﬂ,6—4a|:]6—4b

®a-5>b-54ha] b
@ —%a<—%b%§“ﬂ,al:]b
® 2-a>-2-b< W, a[ b



11. -1<-3a+5<2 % 1, a9 @] 9= Faolat,

5 S
=%



i

®1

O 2



13. AATEA 3x-2 < x+ 08 WESH A% 1 0] A4S Tstelet,

B e ol



-3x+3 9

2x—-2<




® 2-3x>-7

@ x-3>0

® 2(x+1)=>8

x+4<25

1

2

®



16. tt

o

oo
HH

&4 Aom 59 A2?

1=}
T

Da>09 M, —ax>7a = x<-7
@ a<09 M, —ax>Ta = x>-7
@ a>449 M, (a-4)x>(a-4) = x>1
@ a<4¥9 W, (a-4)x>@a-4) = x<1

®a<4¥9 W, (a-4)x>-(a-4) = x>-1



17, AESA 2(83x-1)-123(-x+5)tax-2>4°] |7} TS, a
o] gk= F-stofet

D
=%






@ x=-10



20. a<3 ¥, (a-3)x+3>a 2 3NE Fotoiet.

D L
=%



